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Question 1

Question Type: MultipleChoice

What is the goal of embedded analytics in SAP S/4AHANA?

Options:

A- Combine the HANA database with SAP BW InfoProviders.
B- Integrate SAP BusinessObjects Business Intelligence into SAP S/4AHANA.
C- Combine transactional and analytical processing.

D- Integrate SAP BW into SAP S/4HANA.

Answer:

C

Question 2

Question Type: MultipleChoice




Which of the following can you assign to an equipment category via a view profile? Note: There are 2 correct answers to this question.

Options:

A- Configuration
B- Manufacturer data
C- Serial data

D- Warranty

Answer:

A C

Question 3

Question Type: MultipleChoice

What are the prerequisites to serialize a piece of equipment? Note:There are 3 correct answers to this question.



Options:

A- Assign a serial number profile to the related material master.
B- Assign a serial number profile to the equipment category.

C- Add a serialized material to the equipment serial data view.
D- Maintain a serial number for an existing equipment master.

E- Add a serialized material to the construction type field of the equipment master.

Answer:

A CE

Question 4

Question Type: MultipleChoice

Which statement is correct about the SAP Fiori tile group? Note:There are 2 correct answers to this question.

Options:




A- It can be assigned directly to the user via personalization.
B- Itis assigned via a portal role.
C- It provides only SAPUI5-based apps.

D- It is based on an SAP Fiori tile catalog.

Answer:

C,D

Question 5

Question Type: MultipleChoice

Which SAP Ul technology is used for the technicianls job list?

Options:

A- SAP GUI for Windows
B- Web Dynpro
C- SAPUI5



D- SAP GUI for HTML

Answer:

Question 6

Question Type: MultipleChoice

Which statements are correct for standard processes in PM/PS costcontrol? Note: There are 2 correct answers to this question.

Options:

A- Budget can be assigned to a WBS element.
B- Maintenance costs can be settled to a network operation.
C- Maintenance order costs can be settled to a WBS element.

D- Budget can be assigned to a maintenance plan.

Answer:




Question 7

Question Type: MultipleChoice

Which objects have been enhanced with linear data in maintenance processes? Note: There are 3 correct answers to this question.

Options:

A- Work order confirmation
B- Maintenance plan header
C- Measurement document
D- Maintenance plan item

E- Equipment task list

Answer:

A CD



Question 8

Question Type: MultipleChoice

How does the work center influence cost calculation in the maintenance order? Note: There are 2 correct answers to this question.

Options:

A- Via organizational unit and personal hourly rate
B- Via activity type and hourly rate
C- Via business partner and hourly price

D- Via cost center and activity type

Answer:

B, D

Question 9

Question Type: MultipleChoice




You want to create a single cycle plan with a cycle of 12 months. You use the Time - key date scheduling indicator. The orders should
be called 3 months before the planned date. How can you setup the maintenance plan? Note: There are 2 correct answers to this
question.

Options:

A- Set the call horizon to 75%.
B- Set the call horizon to 25%.
C- Set the call horizon to 90 days.

D- Set the offset to 3 months.

Answer:

B,D
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